Dr. Bryan Carrillo Knowledge Checks Chapter 2.6
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2. Letp= (i, ‘/4_> on the unit circle. Let ¢ = (1,4). Calculate R,(q). State the geometric or visual

meaning of this answer.
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3. Letp = (4, \q_) and g = (—%, —£> Find a point r so that p x » = ¢ . State the geometric or

visual meaning of this answer.
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Knowledge Checks Chapter 2.6
4. Rotate the point (3,1) around the point (1,1) by the angle a = (%, ?)
Tronslate So center C\,ﬂ 1S at O"‘ﬂ;\’\ (0,0\.
V: <-|1_\>
V + (‘o\) = (OIO)
i TR \1+ (3'0 = (21 0)
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Rotate b:, o= (’:{, J—})
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Trans)ate b:’ (0,0) +o0 +he origivm‘ center CI,D

~V+Ra(2,0)= <1, '7"'(33"2’3-83
17 — = (%, 3_%{5)

final answer
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